1. Let X1, Xo, X3, X4 ~ fx,x,x;x, (1,2, t3,t4). Their joint PMF is given in Table 2.10.1.

by | to | B3 | Ly | [x,xaxax,(E1s L2, E3,14)
O 1,0} 0 1/5
010/ 1]0 1/5
010 0] 1 1/5
0l 0] 1] 1 1/5
0 1 1 1/5

Table 2.10.1: Joint PMF of X, X5, X5 and Xj,.

Deﬁneg(Xl,Xg,Xg,X4) = X] -+ X-z + X3X4 and h(Xl,XQ,X:;, X4) = X2X3X4.

1) Determine the range of g and h.
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3) Arandom experiment consists of rolling an unbiased die two times. Let X denote the number obtained on the first die and Y denote the number obtained on the second die. The joint PMF of X and Y is 7 point
denoted by f‘\'y(tl, ty).Let Z = X + Y . Choose the correct statements from the following:
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(] Z is uniformly distributed over its range.
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Let the random variables X and Y WhICh represent the number of people visiting shopping malls in city 1 and city 2 in an one hour interval, respectively, follow the Poisson distribution. The average number of people
visiting the shopping malls in city 1 and city 2 is 10 per hour and 20 per hour, respectively. Assume that X and Y are independent.

4) Let Z denote the total number of people visiting shopping malls in city 1 and city 2. Find the pmf of Z, fZ(z). 1 point
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5) Find the conditional distribution of Y given that the total number of people visiting shopping malls in city 1 and city 2 is 30.
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